

| ITB No. 19-101075 ITB Name: Stone Crushed Granite E (Annual Contract With 2 Options To Renew) | | | BID T | ABULATION | | Bid Opening: June 21, 2019 Price Schedule Opening: August 12, 2019 Agent: Kyheem Bristol | |
|---|--|----------------------|--------------------|------------------|--------------|--|--------------|
| Company | | | | FM Shelton, Inc. | | Green Dream International | |
| ITEM NO. | DESCRIPTION | ESTIMATED QUANITY | UNIT OF MEASURE | UNIT PRICE | TOTAL AMOUNT | UNIT PRICE | TOTAL AMOUNT |
| 1 | Stone, crushed granite, Class A, Size 3, Grading 2"-1" | 4,000 | Ton | \$27.59 | \$110,360.00 | \$25.57 | \$102,280.00 |
| 2 | Stone, crushed granite, Class A, Size 4 | 4,000 | Ton | \$28.52 | \$114,080.00 | \$26.09 | \$104,360.00 |
| 3 | Stone, crushed granite, Class A, Size 5, Grading 1"- ½" | 5,500 | Ton | \$27.50 | \$151,250.00 | \$25.36 | \$139,480.00 |
| 4 | Stone, crushed granite, Class A, Size 467, Grading 1 ½ " No. 4 | 5,000 | Ton | No Bid | \$0.00 | No Bid | \$0.00 |
| 5 | Stone, crushed granite, Class A, Size 57, Grading 1" No. 4 | 6,000 | Ton | \$29.83 | \$178,980.00 | \$27.20 | \$163,200.00 |
| 6 | Stone, crushed granite, Class A, Size 67, Grading ³ / ₄ " No. 4 | 4,000 | Ton | \$31.40 | \$125,600.00 | \$28.77 | \$115,080.00 |
| 7 | Stone, crushed granite, Class A, Size 7, Grading ½ "No. 4 | 5,000 | Ton | \$33.20 | \$166,000.00 | \$31.40 | \$157,000.00 |
| 8 | Stone, crushed granite, Class A, Size 89, Grading 3/8" No. 16 | 4,000 | Ton | \$32.45 | \$129,800.00 | \$28.77 | \$115,080.00 |
| 9 | Stone, crushed granite, Class A, Size 10, Grading 2" | 4,000 | Ton | No Bid | \$0.00 | No Bid | \$0.00 |



| 10 | Stone, crushed granite, Class A, Size 3, Grading No. 4-0 | 4,000 | Ton | No Bid | \$0.00 | No Bid | \$0.00 |
|----|--|--------|-----|---------|----------------|---------|----------------|
| 11 | Graded aggregate in accordance with Georgia DOT standard specifications, section 815, dated November 5, 2010 | 58,000 | Ton | \$19.76 | \$1,146,080.00 | \$18.53 | \$1,074,740.00 |
| 12 | Rip Rap, in accordance with State of Georgia D.O.T. standard specifications, section 603 A, B, and C Type 1 | 54,000 | Ton | \$25.50 | \$1,377,000.00 | \$30.61 | \$1,652,940.00 |
| 13 | Stone, crushed granite, Class B, Size 3, Grading 2" – 1" | 50,000 | Ton | \$27.59 | \$1,379,500.00 | \$25.57 | \$1,278,500.00 |
| 14 | Stone, crushed granite, Class B, Size 4 | 50,000 | Ton | \$28.52 | \$1,426,000.00 | \$26.09 | \$1,304,500.00 |
| 15 | Stone, crushed granite, Class B, Size 5, Grading $1''-\frac{1}{2}$ '' | 50,000 | Ton | \$27.50 | \$1,375,000.00 | \$25.36 | \$1,268,000.00 |
| 16 | Stone, crushed granite, Class B, Size 467, Grading 1"– ½" No. 4 | 50,000 | Ton | No Bid | \$0.00 | No Bid | \$0.00 |
| 17 | Stone, crushed granite, Class B, Size 57, Grading 1"– No. 4 | 50,000 | Ton | \$29.83 | \$1,491,500.00 | \$27.20 | \$1,360,000.00 |
| 18 | Stone, crushed granite, Class B, Size 67, Grading 3/4"– No. 4 | 50,000 | Ton | \$31.40 | \$1,570,000.00 | \$28.77 | \$1,438,500.00 |
| 19 | Stone, crushed granite, Class B, Size 7, Grading ¹ / ₂ "– No. 4 | 50,000 | Ton | \$33.20 | \$1,660,000.00 | \$31.40 | \$1,570,000.00 |
| 20 | Stone, crushed granite, Class B, Size 89, Grading 3/8"–No. 16 | 51,000 | Ton | \$32.45 | \$1,654,950.00 | \$28.77 | \$1,467,270.00 |
| 21 | Stone, crushed granite, Class B, Size 10, Grading No. 4 | 50,000 | Ton | No Bid | \$0.00 | No Bid | \$0.00 |



| LSBE Participation Benchmark/GFE | | Yes | | | GFE | | |
|----------------------------------|---|--------|-----|----------|-----------------|---------|-----------------|
| Grand Total | | | | | \$17,110,865.00 | | \$15,899,865.00 |
| 32 | Slate Chip, Medium, 1"-2" across, Blue | 500 | Ton | \$87.50 | \$43,750.00 | No Bid | \$0.00 |
| 31 | Granite Sand #810 | 500 | Ton | \$29.43 | \$14,715.00 | \$27.20 | \$13,600.00 |
| 30 | Medium River Flats, 3" think double hand-sized, flat | 500 | Ton | \$137.50 | \$68,750.00 | No Bid | \$0.00 |
| 29 | Large River Rounds, River Rock, 14" to 24" across | 500 | Ton | \$125.50 | \$62,750.00 | No Bid | \$0.00 |
| 28 | Medium River Rounds, River Rock, 7 to 14" across | 500 | Ton | \$125.50 | \$62,750.00 | No Bid | \$0.00 |
| 27 | Small River Rounds, River Rock, 2" thick | 500 | Ton | \$125.50 | \$62,750.00 | No Bid | \$0.00 |
| 26 | Slate Scape Trail Mix ASTM C136 – AASHTO T27 | 500 | Ton | \$59.25 | \$29,625.00 | No Bid | \$0.00 |
| 25 | Curbing, granite, Grade B, random lengths; 7-1/2 ft 8 ft. long, 6 inches-8 inches thick, 14 inches-16 inches high | 1,500 | Ton | \$20.80 | \$31,200.00 | No Bid | \$0.00 |
| 24 | Surge Stone | 500 | Ton | \$29.95 | \$14,975.00 | \$26.67 | \$13,335.00 |
| 23 | Rip Rap, in accordance with State of Georgia D.O.T. standard specifications, section 805.01 A, B, and C Type III | 50,000 | Ton | \$30.95 | \$1,547,500.00 | \$29.82 | \$1,491,000.00 |
| 22 | Manufactured Sand | 50,000 | Ton | \$22.32 | \$1,116,000.00 | \$21.42 | \$1,071,000.00 |



| Attendance at the Mandatory LSBE Meeting (Yes/No) | Yes | Yes | | | | | |
|--|--------------|-----|--|--|--|--|--|
| Separate Sealed Price Schedule (Yes/No) | Yes | Yes | | | | | |
| Attendance at the Mandatory Pre-Bid Meeting | Yes | Yes | | | | | |
| | NOTE DETAILS | | | | | | |
| Recommend award to the sole bidders who are responsive and responsible: | | | | | | | |
| Primary Award Green Dream International, LLC 32 West 8th Street, Suite #607, Erie, PA 16501 Note: LSBE DeKalb Participation: 20% Alternate Award F.M. Shelton, Inc. 1434 Ralph David Abernathy Boulevard, SW #1, Atlanta, GA 30310 Note: LSBE – MSA Firm No additional vendors | | | | | | | |